Group — A
(Multiple Choice Type Questions)

1. Answer any ten questions
i) An example of violation of law of supply is

-a) labour supply.curve b) supply curve of shares and stocks
c) an original artwork of Michael Angelo v'd) all of these
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iv) Indisate l,uiluw whad Ia not 4 factor of production

v'n) bank loan b) laid 0) tapiltal t) labiour
v) Production funetion deplets the relation betwaor

a) domand and supply v'b) input and output

0) both (a) and (b) d) nona of thase

vi) Under porfect competition
i) MIN = AR b) M1 = AR v'0) M = AR d) none of these

vil) In porfoct compelition, the supply curve In the short run e
V') Rising portion of MC curve abova the minimum AVC curve
b} rising portion of AVC curve
¢) lalling portion of AC curve
d) nono of thegss

vill) The slope of the total varlable cost curve equals
a) avorage variablo cost v'b) marginal cost
o) averago cost d) marginal physical product

i) It s monopolist's demand curve Is downward sloping and linear, then lts total revenue curve
must be

a) Idontical to tho domand curve

b) 4 ray from the origin with a slopae equal to price

£) negatively slopoad with twice the slope of tho demand curve

v'd) a rising function of output thal increases al an Increasing rate
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: -, A monopolistically competitive firm differs from a perlectly competitive firm in that unfike the

dectly competitive firm, it
a)faces a downward sloping demand curve
b) can change the characteristics of its product
¢) can vary the price of its product
v'd) all of these

In the kinked demand curve model of oligopoly the demand curve is kinked because
a) of the differences in quantity demanded
b) of the differences in quantity supplied
v'c) of the differences in elasticity demanded -
d) none of these '

xi)

xii) In the Keynesian theory rate of interest is

v'a) monetary thing b) real thing
c) both real and monetary d) none of these
Group-B
(Short Answer Type Questions)

2. Define isoquant. What are the salient properties of isoquant? -
See Topic: PRODUCTION, Short Answer Type Question No. 10.

3. What is an inferior goods/ distinguish between interior goods and giffen goods? .~
See Topic: DEMAND, Short Answer Type Question No. 8.

4. Why the long run average cost curve is called the “Envelope Curve”.*
See Topic: COST, Short Answer Type Question No. 3.

5. What are the features of perfect competition? v’
See Topic: MARKET, Short Answer Type Question No. 1.

6. Explain the risk-uncertainty theory of profit.
See Topic: PROFIT, Short Answer Type Question No. 2.

Group-C
(Long Answer Type Questions)

J/V-Vhat is_ production function? How does a long run production function differ from a short run
Production function? Why does production eventually experience diminishing margma} returns to
labour in the short run? What do you understand by ridge line?

See Topic: PRODUCTION, Long Answer Type Question No. 3.
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8. State and explain the properties of an Indifference curve. Explain graphlcally how a consumer's
equilibrium could be reached.

See Topic: DEMAND, Long Answer Type Question No. 8.

9. Define monopoly. Show the short run and long run equilibrium of a monopolist firm.
See Topic: MARKET, Long Answer Type Question No. 11.

10. What is nonnal profit? Explain the ‘Coumot's model of duopoly. What ‘is ‘barometric price
leadership? |

See Topic: MARKET, Long Answer Type Question No, 12.
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